Séquence de Nombres Linéaires (B)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
1094 1104

Différence commune:

| |
1109 1114

|
1124

|
1129

! ! !
9605 9655

Différence commune:

! ! !
9705 9730

| | |
4553

Différence commune:

! ! !
5929 6029

Différence commune:

| | |
2196 2216

Différence commune:

! ! !
386 436

Différence commune:

40 65

Différence commune:

! ! !
8567 8577

Différence commune:
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Séquence de Nombres Linéaires (B) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
1094 1099 1104

!
110

|
9 1114 1119

|
1124

|
1129

|
1134

Différence commune: 5
I I I I I I I I I I
9605 9630 9655 9680 9705 9730 9755 9780 9805 9830
Différence commune: 25
l l l l l l l l l l
4403 4478 4553 4628 4703 4778 4853 4928 5003 5078
Différence commune: 75
I I I I I I I I I I
5929 5979 6029 6079 6129 6179 6229 6279 6329 6379
Différence commune: 50
; ; ; ; ; ; ; ; ; ;
2196 2206 2216 2226 2236 2246 2256 2266 2276 2286
Différence commune: 10
I I I I I I I I I I
386 436 486 536 586 636 686 736 786 836
Différence commune: 50
| | | | | | | | | |
| | | | | | | | | |
15 40 65 90 115 140 165 190 215 240
Différence commune: 25

! ! ! ! ! ! ! ! !
8567 8572 8577 8582 8587 8592 8597 8602 8607

Différence commune:

5
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